H & 0l & AHS B Ml A

FA: SIMR D

g Ngoz 2

el 2al(2a)2g X (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2|3 AR 1t 840,613 920,008 AT9,3%
Agels 2SR 768,707 848,054 ANT9,347
3 (YAHN2E R 200,414 290,183 89,769
SAEE =8 130,004 217,693 A\87,689
101 21AH| 33,230 23,933 9,297
04 JIZtN2Z2XNSE+ 33,230 23,933 9,297
oo ArR2ENA X
2,060,740~ 1H« 122 24,729
o2 = 24,728,880 *12% 2,968
SJIRIMZ2ZAF E1X 3
78,8803 x302 x2H 4,733
SJIZHMZ22 A BEFIHI
400,000 x 122 800
201 Ler23 | 69,224 76,660 AT,436
01 At2t2ltl 64,224 71,160 26,936
o329 F et 50,0002 *100F+62 30,000
oRAN U AN ARSERY
50,0003 245 +42] 4,800
CNRHBA ASEY
200,000 «2F 122 4,800
=2lgletd | 9,820
olmal o MRS BN S
100,000& 6 2=+ 102 6,000
-O|FA o 2301F JHE MH
3,500,000& %12 3,500
—OFA, SEANRA U FOIF YA HE
2,000 *80 423l 320
SOl S A0S BN
70,0002 x5 #2353 700
QAR E Rl Eed
70,0002 x4 +83] 2,240
oHA AXE(HRAS S)
900,000& 22 1,800
oZJ|IEEI| gXe
60,0002 *1CH =123 720
od=)| A= 32,000 +6CH* 122 2,304
SZAD| YRB(ABSZA MR
160,000 x2CH* 123 3,840
oHHAR =& 200,000& x4 H*42] 3,200
2 s5=34l 2,000 2,000 0
oFAH AEEHI= A 2,000,000& 2,000
03 A= 3,000 3,500 A500
o8z Mzl S 3,000,000& %12 3,000
202 04| 11,600 20,700 29,100
01 =LHOLI 11,600 20,700 29,100
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FA: SIMR D

g Ngoz 2

el 22 (2An2g N (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SHHANSUA L ZA S 212 ZZ
25,0002 x8& 10 2,000
ocoldegs g8 S
25,0003 x82 30! 6,000
=232 MDILt &4
50,0002 x4 232 x62] 3,600
203 HR=H] 2,550 3,000 A450
03 A=A 2= 2,550 3,000 2450
ool3l2d = 637,500& x4 | 2,550
301 LEetE N = 1,400 1,400
14 JIEt2a=S 1,400 1,400
SHIANRTAL K ZAISO E4E
70,0002 x5 *43] 1,400
405 KHaHE SH 12,000 92,000 /80,000
01 AL =S F=H 10,000 90,000 280,000
oL =HIZ 7 2,000,000& x565+13] 10,000
02 A+l 2,000 2,000 0
ok aR & ALY
50,0002 102 43 2,000
A =29 2,950 2,950
201 fet= 3| 2,950 2,950
01 AtR2tc|HI 2,950 2,950
oj2EIE 1,000,000& %12 1,000
oQHHZ el 3003 #5005 150
oflglE 22X H dlE S
1,800,000& 1,800
P8R HEgHat 45,760 47,840 /2,080
201 er23| 16,320 16,400 A80
01 AtR2te|HI 16,320 16,400 A80
o233RE AYUF 840,00021» 18 15,120
c23SRH HRUF FA+E
600,000 2 1,200
202 04l 29,440 31,440 22,000
01 2LHoIH 2,940 2,940 0
o2|32g EtAlZ HluAst
70,0003 x72H+32 #2353 2,940
04 =Xl=todb] 26,500 28,500 22,000
oozt EFRE oA
2,500,000& 2,500
oot S2H A
4,800,000 *4H 19,200
oMYAz Ardted SR A
4,800,000 *1H 4,800
o0y E2ES 21,700 21,700 0
201 fer= 3| 10,700 21,700 211,000
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2A:

9|3 AFS Dt

B K|gols] 2K
el 23l(2An2E XA (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 8,300 16,300 8,000
cAYESIIEE Al
5,0002 %30 *43] 600
o¥d=od Xl KMZ
40,0002 *8H *5H 1,600
oOoFHE ALE RN 2,00021+500 1,000
ooHER U UBHA Ha
70,0002 +30% 2,100
o2|FAIAH SUHRE 20ldA Y
3,000,000 3,000
02 s3=gHl 2,400 5,400 23,000
olitzoE FAIZ4=H]
600,000 *4= 7| 2,400
308 XXM SOIH 11,000 11,000
13 2| 2HSOICHE S A E P EALIH] 11,000 11,000
comEy B2
550,000& 10| 2t+23] 11,000
o ggs A 568,293 557,871 10,422
o|d &S| 568,293 557,871 10,422
205 2|3/H| 568,293 557,871 10,422
01 & &=HI 105,600 105,600 0
ooldast| 1,100,000 «8H «12& 105,600
(= FSESIS 191,118 186,456 4,662
ocEd+d 1,990,810 «8H «12& 191,118
03 2IE=LHOH 12,000 12,000 0
CHTZEAL & 3T A
50,0003 x82 30! 12,000
04 2|3 =20| 49,920 49,920 0
o9l 22/H= 0
4,800,000 8 *12] 38,400
SXOHZATHH WFHAL &4
38,400,000 *30% 11,520
06 2H=ESS3H 54,635 49,551 5,084
oY E2ISSYFFAY
6,500,000 «8H 52,000
oHABMEERRS SSHI
2,635,000 2,635
06 2lzl2gdR=a] 80,100 76,200 3,900
SES 2,500,000& «12& 30,000
oo 1,200,000& * 12& 14,400
SHABMEEARSAZRE S
850,000 #62 5,100
oA AHY
850,000& x3E «12& 30,600
07 AFAZNLH (SIS, AU F) 2,000 2,000 0
ool IHEH| 600,000 x22+13] 1,200
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FA 2ASIAIR
B K|gols) 2N
&elr 23l oZEs N (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S EEICERER
100,000& 8 *13] 800
08 QI AN | (LI2A2IEL) 12,000 12,000 0
ool FISmEY
1,500,000 «8 & *13] 12,000
09 A F o] 40,000 40,000 0
oA I 5,000,000 «8& *13] 40,000
10 ¥ EAMEE=S 10,000 12,000 /2,000
S ENEEE SR
10,000,000& * 13l 10,000
noA=2UA=SRE=S 3,240 3,6% A456
oxUd=SFE=E 90,0002 x3& =122 3,240
12 2A9=0AARHES 7,680 8,448 AT768
o=x0AHARES 80,0002 x8& » 122 7,680
B2 BHI(ASIARL) 71,906 71,954 N8
=] 16,202 16,830 1,628
el =gl 16,202 16,830 A1,628
101 @12A4H| 16,202 16,830 A 1,628
01 2= 13,301 14,425 A1,124
oAZRZRE
11,3102 %14 +7 Al 2t 123 13,301
02 JIEtX == 1,901 2,405 A504
SAZAZ R+ (SIIM72EE)
11,3102 x2S +7 Al 2+ 123 1,901
=34 56,704 55,124 1,580
Jl=23H] 56,704 55,124 1,580
201 er2 3| 50,304 49,564 740
01 AtR2telHl 25,188 26,128 A940
o2l & 250,000 8 H 2,000
oLglE =8 250,000 x6H 1,500
o ZAEX 25,0003 102t A% 123 3,000
b= 7,920
-S2Al 20,0002 x 152+ 123 3,600
NN 15,0003 x24=x 122 4,320
oclEEZ2 SHUZ 10,0003 =304~ 123 360
odJ| Pz 42,0003 20« 123 1,008
oZJ|IEEI| g
60,0002 1CH =12 720
o2 Xt F=AH 2,0003+5A1 2t 1238 120
ooHE2E ARES
10,0002 125122 1,440
S2ZAIRA HIZSE &AM 720
mr=FaoN 10,0003 x22+ 123 240
-2t 5,000 x8=+ 122 480
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SN ABIAR D
MM HYSAGHI(2IZAIRD)
&l D122 (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
S EEEEEREEL
8,0002 x10Y 50! 4,000
SolARIZelS 22kl
8,000 x6% x50 2,400
2 S=29| 25,116 23,436 1,680
oREEF 4303 *1000H 12 516
oNIIR3 40,0003 =301+ 12E 1,440
o= A 22l 1,000,000 23] 2,000
o230 FE, Afa HEEHH 72
1,600,000 *33| 4,800
o128 Xte A=l
1,700 *2002| E1+2CH* 123 8,160
o1,28 X (22ldl) 4,000,000& 4,000
o NS XAl 300, 0002 *3CH*23] 1,800
oXHEE = 800, 000 *3CH 2,400
203 AR F=&lH| 6,400 5,560 840
02 HRIMAARFXRIH| 1,600 1,360 240
o 2|3 AR Dt 80,000 x20H 1,600
M EA2IHRFALI 4,800 4,200 600
<2021 0lat 300,000& <12 3,600
o50! OloHA 224! 100,000« 12& 1,200
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